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STATISTICS (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Wherever any assumptions are made for answering a question, they must be clearly indicated.

Charts/Figures, wherever required, shall be drawn in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.

(@)

(b)

(c)

(@)

@Uus—A / SECTION—A

fraw gfer (I@) fvawn § dens aft@em (3o die) T F Wed Ht Far5e| TF TorEd
9T ¥ fow yeme de9 A grar % sia, A (X) 9% & ded, 3o Ho %o & '
FeF T A S 1 I ok Tk R py A uy =ugy +20 § @ 91 A wifrwar
famfore, Saf w& X = &1 39 30 diwistt & ary o smar @, S 3wEyg #1 AW n =6
2| (W T diferst EF TR 21)

State the significance of operating characteristic (OC) curves in control chart
analysis. Obtain the general expression for the OC function corresponding to
the mean (X) chart under the assumption of normal distribution for a quality
characteristic. Using the expression, find the probability that a shift will be
detected from p top; = +20, when an X chart is used with 3o limits, where
the subgroup size is n =6. (Standard normal table is provided.)

g Frliem &1 Fn wae 87 guiiers (e & wafia wt A smen Hifee a6
e uwe ufeaTT SIS % dEd U@ A % ST ofedd Shiteg |

What is meant by rectifying inspection? Explain the measures associated with
rectifying inspection and derive the expressions of such measures in the case
of a single sampling plan by attributes.

TF AIAEE SN F SHad-FE H g AU ym@EE €, e w=e w=10 22 qu
=15 &

(i) ShEA-F1@ 10000 =2 ¥ 3fys 8 H miwa J@ Fifm)

(i) 99% sl &1 She-Hret fFa Shea-we @ i 37

(79 W i YT TS R1)

The lifetime of a semiconductor laser has a log-normal distribution with
parameters p =10 hours and ¢ = 1-5 hours.

(i) Find the probability that the lifetime exceeds 10000 hours.
(i) What lifetime is exceeded by 99% of lasers?

(Standard normal table is provided.) 5+5=

F A% AE N TF IAR H 400 FTHEA TOF GHGR F 3G AEH F SSHI Bl 81 T8
IEE ¥ IR T 50 Uid 3HE & RO @ IH a1 81 IAEE A ARY q¥1 I N FHwd
T 75 ufa 31t 3| wegsh (390) & R i fiwa, S it Fiwa F 7-5% a9 #) I
Hife (i) foaerh w=r afemn, (i) et goaw @ (G5 @ wfefem) Sfv (i) $ TR
@, afe e T 55 ufd i & fum @ = St R

A stockist has to supply 400 units of a product every Monday to his customers.
He gets the product at T 50 per unit from the manufacturer. The cost of
ordering and transportation from the manufacturer is T 75 per order. The cost
of carrying inventory is 7-5% per year of the cost of the product. Find
(i) the economic lot size, (i) the total optimal cost (including the capital cost)
and (iii) the total weekly profit, if the item is sold for ¥ 55 per unit.
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TRt @ gt yEE s
Table : Cumulative Normal Distribution

o0 =f;:/;:e"2/2 dt

T
X 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359
0.1 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 0.5832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
11 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 0.9032 0.9049 0.9066 0.9082 0.9099 0.9115 09131 0.9147 0.9162 0.9177
1.4 0.9192 0.9207 0.9222 0.9236 0.9251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 0.9332 0.9345 0.9357 0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 0.9452 0.9463 0.9474 0.9484 0.9495 0.9505 0.9515 0.9525 0.9535 0.9545
j b 0.9554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
1.8 0.9641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 09713 09719 09726 0.9732 09738 0.9744 09750 0.9756 0.9761 0.9767
2.0 09772 09778 09783 0.9788 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
2.1 0.9821 0.9826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
2.2 0.9861 0.9864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 0.9893 0.9896 0.9898 0.9901 0.9904 0.9906 0.9909 0.9911 0.9913 0.9916
2.4 0.9918 0.9920 0.9922 0.9925 0.9927 0.9929 09931 0.9932 0.9934 0.9936
2.5 0.9938 0.9940 0.9941 0.9943 0.9945 0.9946 0.9948 0.9949 0.9951 0.9952
2.6 0.9953 0.9955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
2.7 0.9965 0.9966 0.9967 0.9968 0.9969 0.9970 0.9971 0.9972 0.9973 0.9974
2.8 0.9974 0.9975 09976 0.9977 0.9977 0.9978 09979 0.9979 0.9980 0.9981
29 0.9981 0.9982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986
3.0 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
3.1 0.9990 0.9991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 0.9993 0.9993 0.9994 0.9994 0.9994 0.9994 0.9994 0.9995 0.9995 0.9995
33 0.9995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998
X 1.282 1.645 1.960 2.326 2.576 3.090 3.291 3.891 4.417
o (x) 0.90 0.95 0.975 0.99 0.995 0.999 0.9995 0.99995 0.999995
2(1-¢(x)] 0.20 0.10 0.05 0.02 0.01 0.002 0.001 0.0001 0.000001
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2.

(e)

(@)

(b)

()

sffae 96 ThSt 1 24 =2y e e i Far ft EwEwa 21 fEe
whst A 10 e F afFs om $i off srawsa 31 7W it 5 @ o gl o e
Fad U AEHEEE I F dwie gedl 81 99 <ffr B 10 fime @ ofwa dar ww g
= ¥ R o fre T ufy a0 w Refeee T 1,000 @< war §, 3R @ ofea wea |
FH ¥ vw fime & fo fafrcarer # s b e wfe 9t ® T 100 @< sman 21 dfe &
ﬁwmﬁléﬂﬁﬁﬁ%ﬂfﬁmmm%%ﬁﬁmmmm%mm
=ifeu?

On the average, 96 patients per 24-hour day require the service of an
emergency clinic. Also, on the average, a patient requires 10 minutes of active
attention. Assume that the facility can handle only one emergency at a time.
Suppose that it costs the clinic ¥ 1,000 per patient treated to obtain an
average serving time of 10 minutes, and that each minute of decrease in this
average time would cost the clinic ¥ 100 per patient treated. How much would
have to be budgeted by the clinic to decrease the average size of the queue from
1 patients to 1 patient?

(i) =0 ¥ foru Few g@fem (I) @ i % fou feew wfem (I6) w0 87
What are control charts by variables and control charts by attributes?
(ii) wfreet oA Rraem ¥ MR W e 3R eiEdaicar % for feem wfEt % R
forw, fiamn diesii A s R
Derive the control limits for the construction of control charts for the mean
and variability based on sample standard deviation.

(i) =0 g siaeeh Fdem smEised F simia TreT F aarEe O o At % g
TS §29 H FOU1 F Iand, S0 TN UhHe YfaEad S Y G9red i v
Hifs)

State the assumptions involved under sampling inspection plans by
variables and describe the operating procedure of a single sampling plan
by variables under the assumption of normal distribution for a quality
characteristic.

(ii) T TR T TR ARISET % i AT 3R e miewa & e gey i
i, Faf Urar AL TF THHRT S H IO Fa @, o we p i s
62 ? (o2 v 7 2), aw swiw sud fafvdw d@m e ?) 9w &1 = F=@ @
yloeE RIS & WEEl H I A F O g uw i)

Establish the relationship between the fraction defective and the
acceptance probability under a single sampling plan by variables when the
quality characteristic follows a normal distribution with mean p and
variance 62, where 62 is unknown, and when an upper specification limit
is specified. Using the relationship, obtain the formula for finding the
parameters of the sampling plan.

(i) n 9z I TF el % RU W W, IWF AT WREW qU FEA O B TRATTE
Hifsw| T 7 ¥Ha ] 87
Given a system consisting of n components, define the state vector and the
structure function of the system. What do they indicate?
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3.

(i) (1) & S@en gonelt, (2) U FEa Jorelt a1 (3) UF n-H-R-k gomet & affia
FA T G Gl IR faaeEa waAt % fou geta st @ ww i)
Defining (1) a series system, (2) a parallel system and (3) a k-out-of-n

system, obtain the associated expressions for the structure functions and
the reliability functions.

(@) TF FF ufafed 30 wat w1 Fwtor Fdt 21 37 wat F foeht win w fok = @, s Fefafaa

(b)

T H IO FA B

fasht (318) 27 28 29 30 31 32
rfar 0-10 0-15 0-20 0-35 0-15 0-05

Ieares e adn fase gea ufe 3 wwe: T400 R T500 B R ot sEfess sae w0
Fraem T 150 wfa 318 &t &1 W foren sman 21 afe win o 76 g€, @ T 50 wfa =6 = quin
2

= argfes® et #1 37m & 3 10 At & fow Fuht /6 o am/21 1 e
Hhifv :

23, 99, 65, 99, 95, 01, 79, 11, 16, 10
afe et gfafem 20 wel &1 3T w@ = folg w8, d we w0 T @ T w27

A company manufactures 30 items per day. The sale of those items depends
upon demand which has the following distribution :

Sale (units) 27 28 29 30 31 32
Probability 0-10 0-15 020 | 035 | 015 0-05

The production cost and selling price of each unit are 400 and ¥ 500
respectively. Any unsold product is to be disposed off at a loss of ¥ 150 per
unit. There is a penalty of T 50 per unit if the demand is not met.

Use the following random numbers to estimate total profit/loss for the
company for the next 10 days :
23,99, 65, 99, 95, 01, 79, .11, 16, 10

If the company decides to produce 20 items per day, what is the advantage or
disadvantage to the company?

% F & W 91 W2 B, P, Py 3 P, &, fAd @ 78 fF s M;, M, a M, #

amgfd et B1 e fw e aifeel, o wiie @ 991 9% T anTd, To® Wi 1 39y
T A9 T AR 8§ S(EwEs 9 8, F I990 S I5a UREed A IE e

qSR e e &
l ) P, Py P, lerecy
M, 19 14 23 11 11
M, 15 16 12 21 13
M, 30 25 16 39 19
e W 39T 6 10 12 15 43

10

15
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A company has four plants B, P,, P; and P, from which it supplies to three
markets M;, M, and M;. Determine the optimal transportation plan from the
following data giving the plant to market shifting costs, quantities available at
each plant and quantities required at each market :

Market Plant Required
l P P, P, P, at market
M, 19 14 23 11 11
M, 15 16 12 21 13
M, 30 25 16 39 19
Available at plant 6 10 12 15 43

() vt 1 (38 a¥) # UF 95 & q€ A, B I’ C F W I9R AW F 40, 40 7= 20 yfdwrd
| IR FGEUH % AUR W TE GhoH {FA1 TN 7 A 3 90 wiow@ WS A
Taal ?, saf% 3|8 5 yfdwd B % e iR 10 ufdwd C & Wes 9¢ 9@ &1 §is B AW
85 WiIwIa TTe®! I 91 T@al ¢, el 360 5 Yew A F Ures 3R 7 yfwa C & Wes 98
I ¥ g C 39 83 Wi e I ST T@AT €, etk 3un 5 ufawa A F UEw 3
10 Sfawrd B % Ues 9¢ 9 8| Uok® oS % W SHad 1 (30 ad) F: E 3R weE Fie
¥ IR Ggfora SR & @ F7

On January 1 (this year), brands A, B and C of a commodity had 40, 40 and
20 percent of the market share. Basing upon a market research, it is compiled
that brand A retains 90 percent of its customers, while gaining 5 percent of B’s
customers and 10 percent of C’s customers. Brand B retains 85 percent of its
customers, while gaining 5 percent of A’s customers and 7 percent of Cs
customers. Brand C retains 83 percent of its customers and gains 5 percent of
A’s customers and 10 percent of B’s customers. What will be each brand’s
share on January 1 (next year) and what will be each brand’s share in the
market at equilibrium?

4, (@) 34 T ® g Hio, o Yo e 7

-1 -2 8]
7 5 -1
| 6 0 12]

Solve the game whose payoff matrix is

[-1 -2 8]
.o =1

6 0 12
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(b) ez (fom M) fafyr =1 swim w6 Frefafas Wew T Twen #1ga HiT
FadiEm FNT Z = 5x; +3x,
= wfoadl & sdaia
2x; +4xy <12
2x; +2x, =10
S5x; +2xy5 210
Xy, Xy 20

Use the penalty (Big M) method to solve the following linear programming

problem :

Minimize Z =5x; +3x,
subject to the constraints
2x; +4x, <12

5x, +2x, 210
X1, X9 >0

15

(€ (i) T-3TET g a1 W-IgETar & ST I AR | R-sgETars & o v R @t
(37%) ¥ Fmior ¥q 39gw WAl 1 FaEe qon i e s § R-sgETast £ siwa

e W Awia Frm wfm & foe feem dmel @ g A

Distinguish between a nonconforming unit and a nonconformity. State the
appropriate conditions for constructing a control chart for nonconformities
and derive the control limits for a control chart based on the average

number of nonconformities per inspection unit.

2+8=10

(i) TOT % TR G SHTE-aL-Foh1S SGhiieh e TSI hl HaTa Nishan i auia il

U I SiomE Esn it g fadvar ®=n R7

Describe the operating procedure of unit-by-unit sequential sampling plan

by attributes. What is the unique feature of a sequential sampling plan?

(ii) @wﬁzﬂm%ﬁqﬁzﬁmﬁn%qmws@qﬁmmﬁﬁmmwmﬁw
7% ¥ UF dga de gw Hiea e m, R sl e f= L o ww wee
8 = 5000 H¢ &1 fawerar =1 ured GHT a1 TEH H A, sﬁzooooaz’iaaxﬁma‘iﬁa

@ # Imn w@ar 8, e i)

The time to failure for an electronic component used in a flat panel disp

lay

unit is satisfactorily modelled by a Weibull distribution with the shape
parameter f§ =3 L and the scale parameter 6 = 5000 hours. Find the mean
time to failure and the fraction of component that is expected to survive

beyond 20000 hours.
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(@)

(b)

()

(@)

(e)

(@)

@Wuvs—B / SECTION—B

o g el § ag@aa gwen 6 awen fifve) e Td0@S w0 §7 g % fafe
THaH! H TARC TA D AT i

Explain the multicollinearity problem in a regression model. What are its
consequences? State the different indicators of multicollinearity and explain.

Had JAiHel & Hed # WG SR, THIA T & 3 Fo W9 X & oY dey w1ia
FT| T I I F N w1 oft 3z i

Establish the relationship among crude birthrate, general fertility rate and
total fertility rate in the context of continuous data. Also, mention the
properties of these fertility rates.

SHEiferhE Atefem § for aam 1 -fOR SHEe IgaE &1 IR i F e = e

What are the implications of using stable versus quasi-stable population
assumption in demographic modelling?

e faerr (RAOSHRRRA) B awen B R A B T 2 B Y, -0 +BX; + U,
a9 § EU?)=K?2Xx?, @ fag fivw % o 3 B % gmmor =pan it (3o wwo wHo)
A F TET, YA WiSH & YN TR % [IEROT <[AqH a1 Teherh! & a0 & 31
g

Discuss the problem of heteroscedasticity. Given that Y; =a +BX; +U; with
E(Uiz) =K 2Xl~2, prove that OLS estimates of oo and B possess greater variance
than OLS estimates of the transformed version of original model.

o whew i duar @ = 3 e 27 Jgar 9w QeedEar fi sEugronet F &9 w5 oiw
TR

What does it imply by validity of a test? Distinguish between the concepts of
validity and reliability.

= Ry 7o afwst & smm w, wft amg-a ¥ form, sng-faftte gy & (o w@o Fo amo)
1 AT R To THo Fo ARe F MU W IR T R (o Fo 3Ro) F oft Topm
2SI

3rg-af (et &) 0-10 10-30 30-50 50-70 70 3R 1fern

SHAET 10000 18000 26000 20000 5000

gawl # qe 220 40 62 350 2000

S 39 AR H FHA A T, @ T 915§ ven =en 6 @ =fe (e eng 47 @iv 54
ofl, 39! et & 37 3R 45 ik = forn ) @ g sriwel W i gH: To wHo o
o TAT Hio Elo Mo HY ToFT FfY| (Fft TFAN Faet 3 W aF B1)
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On the basis of the figures given below, calculate the age-specific death rates
(ASDRs) for all the age groups. Also, calculate the crude death rate (CDR) on
the basis of ASDRs :

Age group (in years) 0-10 10-30 30-50 50-70 | 70 and above

Population 10000 18000 26000 20000 5000

Number of deaths 220 40 62 350 2000

(b)

(c)

It was later discovered that two individuals, aged 47 and 54, were incorrectly
recorded as being 37 and 45, while compiling the above table. Recalculate the
ASDRs and CDR based on the corrected age data. (All calculations are up to
3 decimals only.)

T IR & G Aufgior H gaen f 9=t fifve) st f B @ w5 gfiEa #@
wagu) A7 feu U gEETeEs uiea it s f sitw fifsw

Y1 =0q +B1oYs +Bi3yz +Y11% +Y12X2 + Uy
Yy =0g +Po3ys +V21X +¥22Xg +Up

Yz =03 +P3 1Y) +Y31% +V32Xp +U3

Ys =Ba1ys +Bagyp +Bazxz +uy

Discuss the problem of identification with an example. State the rank and
order conditions of identification. Check the identifiability of the following
structural model :

Y =0 +B12Ys +Bi13yz +Y11% +Y12Xp +1y
Yp =05 +Bo3ys +Y21% +Y¥o0Xp +Uy

Yz =03 +PB31y; +VY31% +¥32Xp +Us

Ys =Barys +Bagys +Bazxz +uy

ot fafte sEEm % 50 @ 60 a4 & -t & forw o wwoft A Fifw) = it
10000 =afth 50 af it 3y & Sfhfed & oMK oY x @ x +1 F d= g hit WhwAT W w6 §
T ®, g, =0-001+0-0002x; x=50, 51, ..., 60 & f@| x =50, 51, 52, .., 60 F
fow @it x, I, q,, d, 3R L, & q9 37 o qaR )

Prepare a life table for an age group from age 50 to age 60 of a specific
population. Assume that there are 10000 persons living at age 50 and the
probability of death within age x to x+1 is given as g, =0-001+0-0002x for
x =50, 51, ..., 60. Prepare the life table with columns x, I, g,, d, and L, for
x=50,/51, 52, ..., 60,

15

15

20
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7. (@) TIHH H Theq H wen Hie | Frafafaa siwst @ fer & et gae i e fifs
3t gafia FiNT 5 #0198 FIAcHan 391 I0EH IR TOET F §gE A 8

2006 2007
o Po 90 b1 q
A 10 40 12 45
B 14 50 11 52
C 14 30 17 30
D 8 28 10 29
E 12 15 13 20

Explain the concept of index number. Calculate the Fisher’s ideal index
number from the following data and verify that whether it satisfies time
reversal and factor reversal tests :

I 2006 2007
Commodity

Po do Py q
A 10 40 12 45
B 11 50 1] 52
&3 14 30 17 30
D 8 28 10 29
E 12 15 13 20

15

(b) Fleam 3fe wicw, @ T@9 &mar K = 10000000 2, # 3w Fa gu e wee 6
SeE gfg 1 Atea PR fF mn sAEEn iws (s9W #), 2 a¥ & Ifaue W 2014
(t=0) & 2024 (t=10) a% few mr & :

T () 0 g 4 6 8 10
— 1000 1785 2575 3400 4900 6200
(1000 #)

() Ifsema gfe Aiea & @ gr=elt F1 FAEH HC
(i) TR AISA H ITAM HA §L a4 2026 * fou @ 1 SN w1 gEuw Hifw|
The population growth of a city is modelled using logistic growth model with a

carrying capacity of K =10000000. The population data (in thousands) is
provided at 2-year intervals from 2014 (taken as t=0) to 2024 (t=10) :

Year (t) 0 2 4 6 8 10
Popatan. £ 1000 1785 2575 3400 4900 6200
(in 1000s)

SLPM-B-STS/14 10



(i) Estimate the two parameters of the logistic growth model.
(i) Using the estimated model, project the population of the city for the
year 2026. 16+4=20

(c) TR I[N F GA%a a1 IS | Fafva FY wifewh H faawar fifvw) F wiferh i srawwa
a1 wew & oft $fie fifs

Discuss the agricultural statistics reléting to area and yield in our country.
Also, point out the need and importance of agricultural statistics. 15

8. (a) i At F whonfa Hifer) v nfoam-me wew, et agfes 92l (e, i=1,2, ..} %
R {ay, Ay, ..., Ay} B, T e, TaF I FHH TT A N(O, 02) % IFER af2q €, ¥ fom
Hegay-foa wom ww i) 39 &9 1 3 Fifve, SefE gt W) s € 3 3 9w 1 2

Define time series. For a moving-average process with weights {q,, a,, ..., @}
of random components {e;, i=1, 2, ...}, where ¢;’s are i.i.d. N(O, 62), obtain the

correlogram function. Find its form, when all the weights are equal and their
sum is 1. 15

(b) U fanedt A 3 nifvra qon v it when #, S ves # sfean % 150 §, FEw: 120 3k
105 3% T fu| sy 6 frm fawa § faemsdf A, 7-wR F 90 % omum w gt faenfiat
smen sttt Ay 21 Fafafea awoft # 56t Fen & 15 faanfiE g ww st =1 @ afdedd

foam mn
7forT & i 79T § Srediah
100 67
75 63
88 73
85 il
92 60
94 53
93 50
84 48
67 38
96 73
100 36
102 45
94 47
73 39
83 56
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The marks obtained by student A in Mathematics and Language tests of
maximum marks 150 each are 120 and 105 respectively. Find out in which
subject, student A is more able as compared to other students based on the
measure of T score. The following table gives a sample of marks obtained by
15 students of the same class :

Score in Mathematics Score in Language
100 67
75 63
88 73
85 77
92 60
94 53
93 50
84 48
67 38
96 73
100 36
102 45
94 47
73 39
83 56
15
() T TR wisA H, WEEl & INEeH H fEE 2Ean @ (2 Wo Ueo who) fafy # aviq
Fifow| sl Feael H ot AR 9AT I@E N A == fifs)
Describe the 2-stage least squares (2SLS) method of estimation of parameters
in linear regression model. Also, state the assumptions and discuss its
properties. 20

* %k
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